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SECTION - |
MATHEMATICS & SCIENCE
' An artificial satellite moving in a circular

orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

(A —E, ® 2E,

© E, (®) 15E,

2 The half-life period for a zero order reaction | 2

is equal to
(a) 2K ® [A],
[al, 2K
(© 0693 () 0.693
K KlAl, |
3. The value of x in the following series : |3

146+11+16+....... + x = 148 |
(&) 38
(© 36

(B) 39 |
(D) 37 ‘

¢ In Friedel Crafts alkylation, besides AIC[,, +

the other reactants are
(A} C.H, + NH; (8) C.H; + CH;ClI

(© C,Hg + CH,COC!
(©) C.H, + CH,

5 np _n n _Nn th 5.
7P = Py 2 TG =7C . then

thevaluesof nandr
(AAn=2,r=3

€ n=3,r=2

B n=5,r=4 |
© n=4r=5 '

sy

© E, (D)

™ P @ affp & fav o sy
Pl qI16Y & -

(A) 2K ®  [A],
(c) 0.693 (D) 0.693
K K[Al,

frferfad soft 5 . &1 a9 & -

1+6+ M1 +16 + . + y = 148
(A) 38 (8) 39
(@ 3¢ (o) 37

BISeT BITE & Todlefideo A AlCl, &
JATaT INIRS & -

(A)  C.H, + NH,
(8  C.H. + CH,CI
(©  Cg¢Hg + CHsCOC!

(®)  C.H, + CH,

e nPr =”Pr_1ﬁ?lT nCr :ncr‘-la‘r

n 3R r $T 79 BT -
(A]n=2.r=3 (B) n =
@ n=3r=2 (On

L] |
-
= s, |
] I
5 T -

1
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The nucleus resulting from

successive emission of two q-particles and

four B-particles is

(A) 23 (8) 230
0Pu qOTh
© >3 (®) 230
n?U ggha
"M x =3 —2y2 then x2 4 _:j-:-wiu be
(A) 24 (8) 36
(©) 30 (D) 34

8 Ina AABC,AB= 63 cm,AC=12cm and
BC =6 cm, then the angle B is
(A) 45° (8) 60°

(@ 120° (D) 90°

2. A body cools from80°C to64°C in 5
minutes and same body cools from 80 °C to
52°C in What is the

temperature of surroundings ?

10 minutes.

238 6
after
92U

B XA P AR gE &
92

B SV & URVIERGSY g9 gTell
AP -

(A) 23 (8) 230
gfp u solh

(c 230 (D) 230
92 ggRa

My =3 22 T A x24 L & AH
X~

(A) 24 (B) 36

(€} 30 (D) 34

U6 ST AABC H AB = gy3 W,
AC = 12 ¥l d1 BC = 6 I9 & ar
BT B BT AIF &8rl

(A) 45° (B) 60°

(©  120° ()  9Q°

6 @ gooc W eacc TP IV 5
e # g & @ ad e gooc o
52°C d® oSl 10 e # 2ar @

(A) 25 °C (8) 22 °C d Bl AN @111 -
(A) 25 °C (8) 22 °C
() 28°C (D) 24 °C
(C) 28 °C (D) 24 °C
T Page: 3 607068
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10 The length of a cold storage is double its

i

A

breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m?.

Its volume will be

(A) 206 m? (8) 216 m3

© 316 m? O 416 m?

The molarity of pure water is (density of  11.

water=1gm [~ 1)
(A) 4555 M
(€) 55.55 M

i
(8) 44.4 M
(D) 66.66 M

A particle is projected at 60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

(a) K (8) K
2

© K (D) zero
4

If a body loses half of its velocity on |13

penetrating 3 cm in a wooden block, then|
how much will it penetrate more before
coming to rest ?
(A) 4 cm

€ 2cm

|
|
(8) 1cm (
(D) 3cm |

|

A convex lens is in contact with concave |14

lens. The magnitude of the ratio of their

2
focal lengths is :—3~ Their equivalent focal

length is 30 cm. What are their individual
focal lengths incm ?
(A) -10, 15

(©) 75,50

(8) -15, 10
(D) =75, 50

10.

2.

fia 1E H TEE SuH A di
THh & | 3@ Sars 3 W& | gual
| ART (IRail Afed) a1 aTGA
1082 & | fa & & AT B -

(A)

Ewg

(8)

206 &° 216 &

@ 316 @ 41643

Y& I DI AleRdl & (Vi & 99 = 1
gm 1)

(A) 4555 M
(© 5555 M

(B 444 M
(D) 66.66 M

A K (8) K
1c1§ (@) g1

4
M TF a¥ A b (h ghs W 3
A dEF H w4 @ A g, o g8
feam IR dugm =M AR &
faRmaven § 3 wiw 2
(Al 4 cm (B) 1 cm
@ 2 cm ®) 3 ¢m

30 WA 8§ | TS AT B g
4. § grft -

|
|
|
|
f
|

|
|
ml

(A) -10, 15 (B) -5, 10
(€ 75, 50 (D) -75 50
Page: 4 T s



15 The water droplets in free fall are spherical | 15 Qaﬁ'—mﬂw

due to

(A) Gravity (B) Viscosity

(C) Surface tension

(D) Intermolecular attraction

16. CH3 —CH—CH; OCzHcJ
IUPAC name of | ' )

OH
(A) 1-Ethoxy propan-2-ol

is

(8) 3-Ethoxy propan-1-ol
(€) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone

17. The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is

& 2 8 4
5 5

© 3 (0 1
5

18. The length of the minute hand of a clock is
14 cm. The area swept by the minute hand

in 5 minutes.
(A) 154 2 () 154 3
— Ccm —icm
9 6
() 154 5 () 154 E
— cm —'em
12 3

-

T

8.

| &1 [UPAC ™
OH

T -

(A) 1-gATRT GO=-2-3ifet

(8) 3-utRit WuH-1-3ifel

(© vaRlt §eA T

) 2-ETEQIRA-3-Y2AMA

KMno, & ®idi & W& S %R

IReic & 1 Ad A Ieig e F
gofer v & forg smawas ® -

(A) 2 8 4
5 5
© 3 (D) 1
5
Th Sl P e dreft g #t ovas 1

A 2 | e a1l 93 & gwr 5 fme #
SR Py 17 &7 FT dAGA BT -

(A) 154 () 154
9 6

() 154 (D) 154
— —
12 3

T
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19 The work done in placing a charge of
8 X 107!% Coulomb on a capacitor of

capacity 100 microfarad is
(A) 16 x 10732 Joule

(8) 3.1 x 107°° Joule |'
© 4 x 10729 Joule

) 32 x 10732 Joule

()
(=]

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangie
(A) 7560 m*

() 6750 m?

(© 6570 m? (D) 5670 m?

2 A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) 100 watt bulb
(B) First 25 watt bulb and then 100 watt
bulb

(€) Both will glow with same brightness
(D) 25 watt bulb

Nessler’s reagent is used for the detection of
(A) Cy?~ () Na~

N

© K- (0) NH;

Which of the following is not a good
conductor ?

(A) NaCl(aq) (8) NaCl(s)

(€) Cu metal (0) NaCl (molten)

23.

AW 16 x 10732 el
B 31 x 10726 o
@ 4 x 10710 A

© 32 x 10732 ol

wF BromerR W & uREM 450 W @

TqAT BT SIS BT YT 13 0 122 1 5
2 | BeIeR @9 & &% BN -

(A 7560 & B 67504

© 570 (0) 5670 =°

. 25 gTe _220 dioc BT TP dod Pl 100

qre 220 dIe & WX g9 U AMH H

SR T Rag (W waR) ¥ 9T
T € | PIF 9T 909 A™H FHSI ?
(A) 100 9IC &T dcd

() Ugcl 25 dIC &I dod Y 100 91 &7
Erc |

(O SFET 99 THE THS |
(D) 25 9T HT o5

- AR ANEHS BT ST T T &

forg 2mm 2
(A Cu?t (8) Na‘
© Kt (B)  NH;

frafafea § @ o9 W gaae T8 2
() NaCl(aq) (8) NaCl(s)

(© Cu =g (D) NaCl (fower gan)

i

Page: 6 607068



l
24 A small metal ball is suspended in an

uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it

(A) The ball will be deflected in the direction
of field.

(8) The ball will move to infinity.

(€) The ball will be deflected opposite to the
direction of field.

(D) The ball will not deflected at all.

25. The rate constant for the first order reaction
is 60 s~ i The time in which it reduce the

5 th
concentration of the reactantto 1t

16

value
is

(A) 46 seconds

B) 46 x 1073 seconds

O 46~ 1077 seconds

(D) 2 seconds

24,

25.

ag @ & BIA A e ar B
eI A UHHH fIem &% § acers
W ? 1 AR gE I=@ St B X-ray

M & TR Sleft I & A -
A T A aF @ R F RaRe 2rf
(B) g 3T W Feil Mgl |

© T dga &3 H fuda Rwr #
fagfa anft |

() g fadfg w& arft |
Y Pfc @ TH aWBw &
ReRi®d  gost B | 98 w99 PORM

IeRs B wiEgw L g @ W

16
g -
(A) 46 AHTSH

® 46x 1073 dpwz

© 46 %1072 Fvvsm

(©) 2 ApvgH
% Which ore contains both iron and copper ? | 2. {6 TH TRFB § AT a7 diqT HT 82
(A) Cuprite (8) Chalcocite (A) FguTEe (B) grepraTse
(©) Malachite (D) Chalcopyrite (© Fgrse (D) FTeHIRRIES
7 Rootoftheequation 3x? + 7ix+6=0 |27 THGR 3,2+ 7ix L =0 & Fo B -
w 2 ® 3 A2 B) 3
2i,—i 31, i 2i,—i : 3=
3 2 3 2
(O 3i, 2i (D) 2 s
v ~3i,1 % 2 ™ a2y
3 3
Page: 7
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28

of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6

kg is

(A) 2.92 loule (8) 3.84 Joule

(©) 1.92 Joule (D) 9.6 Joule

Real value of x andy, if x—1 + y-1 =i
3+i 3—i

(A) -4, 6 (8) -2,5

(¢ -10, 12 (D) 7,-7

If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

(A) 1 B V> x98

— m/sec V2 X 9.8 m/sec
{2} 4.43 m/sec
the

In 2 single throw of three dice,
probability of getting a total of 5

(A) 5 ® 1
108 216

© 5 o 1
216 36

Percentage errors in the measurements of
mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 8%

(c) 10%

(8) 12%
(D) 2%

28 A bomb of mass 9 kg explodes into 2 pieces| 28 9 kg FHHAT @1 TP

29.

31.

32.

g9 e & q

3 kg 3R 6 kg & T THSI F Jer & |

3 kg GEA B 47 1.6 WA € | 6 kg

g @ afas ot gnft -

(A) 2,92 ST (B) 3.84 ol

(© 192 S () 9.6 el

qﬁx~1+y_-_-_l=i al x ARy @
3+i 3-—i

qreifas AT 8N -

(A) -4, 6 (8) -2, 5

(© -10, 12 o) 2, -7

af¥ g Urge® dld St 2 W B SN |

gar &, B FWER ¥ 600 W o WA

B far Srar 2 | did B I0 9 W
forram fig A oRA W 47 1 B 2

)

—_;A

@ 1 #RY 8 Zx98 WAL
V2

@ 7 AR (0) 443 #HrA.
W IR & UEHT SBIA H FA AN 5
M @t wifldar 8rft -
@ 5 (8) 1

108 216
@© 5 (D)

216 36
SHAM AR dId b WG H HAT 2%
AR 3% P ufe Ffe ardt 75 | g
AR A1d & AT A g AR it &
e H Ffe arft -
(A) g9 (B) 129
© 10% (D) 29
Page: 8 T =
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33 If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
(A} 7:8 (8)5:4

©4:7 D) 6:7

3. At the magnetic poles of the earth, a|3
compass needle will be

(A) Vertical (8) Bent slightly
{€) Horizontal

(D) Inclined at 45° to the horizontal

If tanx +secx = V3, such that |3
0 < x < m,then xisequalto
(a) T (8) 2T
3 3
© T (D) 5m
6 6
3%

property ?

(A) Depression in freezing point

(8) Relative lowering in vapour pressure
(C) Elevation in boiling point

(D) Optical activity

31. Which of the following behaves both as
nucleophile as well as an electrophile ?
(A) CH,CI (8) CH;CHO

(© CH,0H (o) CH,CN

B AN IS $ a9 ol

- Which of the following is not a colligative | 36.

37.

qdl & b8 W
60° AR 75° & HIOT g0 & @ ST gai

& et &1 U B -

(A) 7 :8 (B 5 : 4

€ 4 :7 D g:7

Al & gEH gd R TE HEN B
< &l -

(A Fegfer

(B) Tcdl M FHI &

© afeor

©) &S ¥ 450 R A €

o tanx + secx = V3 St

0<x<gm @ y & A B8N -

(A T (8) 2w
3 3

@ T (o) 5m
6 6

frforfed & @ svRiems o7 98 © -
(A) &ATG BT T

(B) qreqeTq FT JMfdE JqTH

© F9UFIF BT I=AT

©) gareh frardierar

fmm § 9 o9 Tifveod  a
FldeAeel QFI Pl T8 PRI BXAT & 2
(&) CH,Cl (8)  CH,CHO

{9 CH;0H (D) CH;CN

DT

Page: 9 607068



38 Three masses are placed on the x-axis : 300 |3 T SN -FF |, 300 gm &
|

gm at origin, 500 gm atx =40 cm and 400 3 W, 500 gm & x = 40 W w®

gm at x = 70 cm. The distance of the centre\ q1 400 gm B ¢ = 70 I W W N

of mass from the origin is : _
=g T A A
(A) 50 cm (8) 30 cm ET‘T!f B ﬁﬁ ?{ﬁ
(©) 40 cm (0) 45 cm A 50 I (8 30 I
(© 40 I (0) 45 I

3. In what ratio does the point (-4, 6) divide|3. & ﬁ@:ﬁ A(-6, 10) &1 B(3, -8) Gall
the line segment joining the points A(-6,10)| g qrd Y@@s @& fa=g (-4, 6) fdw

and B(3, -8) ? SR ¥ gt -
(A)3:7 (8)2:7
A 3 :7 B 2 :7
(©4:5 (©)4:9 oo g R
< Which of the following does not have a 4 fr=ifofag § o fresd arg-sdw du =&
metal carbon bond ? | &2
(A) Ni(CO), (8) AI(OC,H;), (A) Ni(CO), (8) A/(OC,H:);
(© K[Pt(C,H,)Cl3] @ C,HsMg Br (© K[Pt(C,H,)Cl,]

(0) C,H:Mg Br

L
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43

'

47

HENRTeD

SECTION - 1l
ELECTRONICS ENGINEERING

A material whose resistivity is 0.4 Ohm-

meter, must be a
(A) insulator (B) conductor

(C) resistor (D) semiconductor

1 volt/metre is the same as
(A) 1 newton metre

(8) 1 newton/coulomb

(O 1 joule/coulomb (D) 1 metre/coulomb

The acceptor type of impurity is
(A) Freon (8) Boron

(©) None of these (D) Phosphor

An electrolytic capacitor can be used for
(A) AC only

(8) both AC and DC only

(€} DC only (D) None of these

An AC voltage can be converted into a
unidirectional voltage by using

(A) a power amplifier circuit
(B) a multivibrator circuit
1€} an oscillator circuit

(D) 3 rectifier circuit

The aspect ratio in a TV receiver is
(A) 4:2 () 4:3
(©3:1 (©3:2

A quartz crystal has
(A) medium Q

(A highQ

(8) low Q

(D) None of these

a1

42

43

45,

46.

47

goragiTa oA

et RRTa gRReaddar 0.4 3EF-HeY €

(A) f&qm’laai (B) dreTdh

(© iR (0) FgTeTd

1 qreerfler THHE § -

(A) 1 Jqeq dlex (B 1 geA/paA™
© 1 Jelrpam™ (0) 1 HAeUpa™
el YfE ®

(A) fraE (8) §RT

@ T & B T8 (0) BRGY

sAdgIge HRa &1 Iggm fear o
bl &

(A) &Had AC
(B) AC 3R DC =mFi

(€ Hdel DC ) T4 & B &

AC voltage @ Us Relt diew #
ERT 98l S 9&dl & 2
(A uif/T wgds aRuy

(8) #eSl argsier uRuy
© Qfery ooy (0) Reer gRoy

TV R¥aR § siqe auid &

(A) 4 : 2 B) 4 : 3

€ 3 :1 (D) 3 : 2

a1y foreed T@Ear &

(A) weH Q ® = Q

@ 359 Q (0) 379 X P &l
 Page: 11
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48

49

51

(!

w
[y

'w qﬁ;aﬁﬁfq{qwm%xamfaﬂar%

For high frequencies, capacitor acts as -
(A) Rectifier (8) Amplifier

(C) open circuit (D) short circuit

The output of a gate is LOW when at least
one of its inputs is LOW. This is true of
(A) NAND (8) OR

(€) NOR (D) AND

The P-N junction behaves like a
(A) diode (B) resistor

(©) triode (D) tetrode

The maximum efficiency of a half-wave
rectifier circuit will be
(A) 81.2%

€ 37.2%

(B) 53.9%
(D) 40%

The function of a solar collector is of
converting solar energy into
(A) Radiations (B) All of these

(D) Electrical energy i

(©) Thermal energy

Heat sinks are used in power amplifier
circuits
(A) to increase the output power

(8] to reduce the heat losses in the
transistor

(©) to increase the voltage gain of the power
amplifier

(0) to increase the collector dissipation
rating of the transistor

49

51

52

53

Y

(A frear (8) yqde
© gar R (0 @Y TR

Te ¥ Bl @ T & FE BN w
ST FEEYE P BT § | 9T e §

(A NAND () OR

(© NOR (P} AND
p-N f, 3 IRE B FHear ®
(A) grare (8) gy
© zrYs (0) 2gre

49 fAeadr IRIY & IWFTH erqr
Brft
(A) 81.2%

€ 37.2%
W WmEs &1 i AR Fod B acaT
gar @ -

A fafeseor # 8 3 If

© arf o F O frew &
e wads Ry § de Rig &1 swgn
fvar S 2 -

ARl o & qgr §
BISRRR § oo g7 3 B P A
lqgﬁa'mﬁm & AR av B IR

(B) 53.9%
(D) 40%

lmgﬁmfi%iaﬁheqnﬁhfavaﬁaﬁﬁ

Page: 12
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55.

Which addition is correct ?

(A) 0101 ® o190 1
1.1 1 1} 1 111
11110 11010

{c}0101{010101
1111 20 O O |
11001 10 10 0O

In a transistor with normal bias, the emltter
junction -

(A) has a high resistance
(B) has a low resistance

(C) areverse biased (D) None of these

The Ge crystal behaves as an insulator at
(A) 0°k (8) None of these

@ 273°k (D) 5°k

A magnet does not attract
(A) nickel (B) iron

{©) None of these (D) copper

The colour of +ve plate of a battery after
charging will be

54.

56.

57.

B 91 AN |E E 2

W 0101 B 0101
1113113 1111
11110 11010

© 0101 ® 91901
1 111 1111
1100 1 10 100

R B WM qraw aewn W

IO SRE (|t -
(A) =7 giRe e & |
@ = gftRy e @ |
© Radt qraw & 2 |
©) &% § Brg TE

Ge fred REgaus @ e ard Fwar
g
®) g q P TE

(A 0k
© 273 °k (D) 5°k

T4F PG A& F¥ar &
(W fXfper (8) JRRA (cATET)

© 7% & P & 0 dia

8 @ TAEHE e B 1 g &
dr 8 -

(A) Black (B) Chocolate (A) Frel (B) FgrPHae
Q) Greyish (D) Yellowish € wd (D) HATqH
The metal from which the electrons are|se g1 fRd R Soiag™ Scafvid et &
emitted is called ) IND (8) dHefrs
(A) an emitter (8) a cathode 0 Ioaois 3R e
() an emitter and a cathode ©) T ¥ P TE
(D) None of these
oy Page: 13 6OT06K
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% To generate PCM, the signal is sampled and 60. pCM I &9 & forg, Rrsier &l

converted into
(A) PWM

(€} PPM

(8) PDM
(D) PAM

61. One farad is the same as
(A) one coulomb/volt (B) one joule/volt

(€) one joule/coulomb

(D) one coulomb/joule

dga IR gRafda swar & |
(A pWM () pDM ¥

© PPM # (©) pAM #

,I 6. U s TA & -
A) & Famv/dice  (B) T Jel/dlee
@ T Jeirgem (0 g QAT

62 Resistivity is a property of a semiconductor | 62. FHaTTE B R A ik e 2

that depends on

WIEaIa® & PR Td qRAmy wefy

(A) the shape and atomic nature of the‘ qv

semiconductor
(B) the atomic nature of semiconductor
(©) the shape of the semicond uctor
(D) the length of the semiconductor

63 For satellite the source of energy is
(A) Cryogenic storage (B) Edison cells

(C) Fuel cells (D) Solar cells

64. The radix of hexadecimal system is
(A) 8 (8) 2

4 (D) 16

85 A capacitance of one microfarad equals
(A) 1012 farads (8) 1Q° farads

(€) 10%2 farads (D) 10°¢ farads

66. The operation of a JFET involves
(A) a flow of minority carriers

(B) a flow of majority carriers
(©) recombination

(D) negative resistance

TETHE SN

(B 3EfaTerd & WA yHfy w
O 3EfaTeid & FMHR W
CIEAqTTd B orrard W

5 Acelge & Iy Fot &1 o &

A) wraRf e e
B) TSR A
© Foq Ao O) HielR Vel

(B) 2
(D) 16

= Ud AgH! BRe B aiiar warg &
J (A) 1012 ﬁ;_\lg (B) 105 I‘.’}ﬂ@'

@ 1012 8%%e 10-5 P

%5 JFET & Wdlolq ¥ wnfijey &
- A AEERA SRR F e @
- B SRS IR F yare @
O e (D) SoTeTE BN




7. The NOR gate is OR gate followed by
(A) NOT gate (B) NAND gate

(€) AND gate (D) None

6s. The specific gravity of the electrolyte is
measured by

(A) Hydrometer (B) Lactometer

(c) Barometer (D) cell tester

8. The unit of electric energy is
(A) joule-second (8) kWh

(©) volt-ampere (D) watt

70. A group of 8 bits is known as
(A) a byte (8) a bit

(Q) an octal number (D) a nibble

71 The capacity of a battery is expressed in
(A) ampere-volt (8} volts

(O ampere-hour (D) percentage

72 The unit of magnetic flux is
(A) amp. turn (8) Coulombs

(€) Newton (D) Weber

" The current lcgg flowsin

(A) the collector and base leads
(8) the emitter, base and collector leads
(C) the emitter and base leads

(D) the emitter and collector leads

. NOR gate 2 3T OR gate & 1<

68.

69.

70.

7.

72

73.

A fagr wrg

(A NOT e (8) NAND 7

© AND T (Dlsﬁﬁﬁﬁgqﬁ
soldgIese & AR Tow @ 30 ERI
AT STaT ®

(A) grggriiex (B) Jaerilery

(© &R (0) A TAEeTH
faeg oot & S & -

(A JT-AFHS (B) f&Hell-qre-Toer
(© qree-gfRR (D) gre

8 bits & g P Fed § -

(A) T qr3e B) T fic

(O v Iifaca d&T

0) 75 fea

8 P gEar T B ST R

(A) gfqaR-diee (8) gree

(© gfga-guer (0) gferer

B Y8 Bl 3PS &

(A) TR e (B) HemH

(© =geq (D) qqv

4T [opo PT WATE -

(A) FImEs IR 99 ¥ s

(8) ISP, 99 AR FUES A offs
© INTEF IR a9 H ofls

(0) IXTSH AR TIED H e

o
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74

76

78

Wi

. The material which is not a semiconductor is

With the help of a computer, we can
(A) transmit message to a distant place
(8) amplify very weak signals

(©) see the details of photographs

(D) perform mathematical calculations very
fast

(A) selenium (8) gallium-arsenide

(€) silica (0) Carborandium

The AM broadcast band is given by
(A) 10 kHz to 30 kHz

(8) 500 kHz to 1500 kHz
(C) 3to 30 MHz (D) 30 to 300 MHz

Which of the following pairs of arrows show
the wrong direction of the forces between
the charges ?

W 0 Qe
" —0D—
© Q@ —
® —S0—

A transistor is operating in the active region.
Under this condition

(&) both the junctions are reverse-biased.
(B) both the junctions are forward-biased.

(€) emitter-base junction is reverse-biased

and collector base junction is forward-
biased.

(Dlemitter-base junction is forward-biased

and collector base junction is reverse-
biased.

78.

75.

76.

7. Computer F gegar ¥ g B wqhd

iiﬂeﬁaﬁqwaﬁﬁﬂﬁﬁ

8) qgq FHGR Rrefer P Fafed
© TR} 1 e 3@ TFd €
(©) TR oIt B dsl ¥ B

gerd & afdrTd Fel B § -
(A) Aferfrem (8 Hferas-ariss

© fuferer (0) FERf~eTH

AM SISHRET 4vs BT &
(A) 10 kHz ¥ 30 kHz

(B) 500 kHz ¥ 1500 kHz
© 3 F 30 MHz (@ 30 ¥ 300 MHz

o R B P AT T IA[Y &

gl B TTera IS BT JPbd a1 ' 2
W0 G

O~ DO —
-0 @ —
"—© O—

iiﬁﬂ%‘\’_m &3 § waferd ¥ 3w
gy

W3 A Rzt araey &

©)H Wit $Ra< arr Bt § |
OFTI W Rt R
Hv‘ém-ﬂviiﬁwaéam:?

ORI A ored qrmm § aR
FATRA W Rawf qrry 3



xa The channel of JFET

(A) may consists of a p-type or n-type
material

(8) consists of p-type material only
(©) consists of n-type material only

(D) None of these

so. One of the examples of an active device is
afan
(A) electric bulb (8) transformer
() loudspeaker

(D) SCR (Silicon Controlled Rectifier)
81 Donor type impurities
(A) Create holes
(8) can be added to germanium
(0 must have only five valence electrons

D) must have only three valence electrons

& Red light is used in traffic signals, because
(#) red light disperses least.

{B) animals can identify red.
{0) red is the symbol of danger.

(D) colour of blood is red.

& The VHF band is

(A) 300 Hz - 3 kHz (8) 3 — 30 kHz

(©) 30- 300 Hz (D} 30 - 300 MHz
% In Boolean algebra, the'bar’ sign (-)
indicates

(8) OR operation
(D) AND operation

(A) None of these

(C) NOT operation

81.

83.

80.

" JFET &1 39d
“‘ﬁ-type 1 n-type 9T F1 BN AT
|

®)Had ptype g FT BT & |
OFad n-type aref @1 B ¥ |
©IgH A B TE

afsha IfT &1 UF arevor @

W figd T ®) FrmER
€ FrSsafier

@) SCR (Riferr fFrifya s

SR Sryfear
(A) BT Tt & |

®) SR 9 ffars <1 &l € |
(O Padf g JA=T Sl & & |
(D) Haef fIF JI=T Solae=T B & |

(A) oTTeT WaTe &9 Sherar & |

(B) SHaR |l ¥ & Ugdrd 9ad & |
O T TR B e g

(0) YT BT T el & |

VHF v
(W) 300 Hz - 3 kHz

(© 30-300Hz

(8) 3 _30kHz
(0) 30 -300 MHz

gferam @iomfda # < faed (o) qarar
-

(A) g9 §q P FEf (B) OR TR

(€ NOT 3fReM () AND 3R

~ Uik
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85.

87

91.

The unit of power of lens is }
(A) diopter (B) centimetre |

{¢] (D) metre |

M-1 |

"

What is unit of charge ? |
(A) Henry (B) Volt-ampere |

(€) Farad (D) Coulomb i

During charging of a battery, specific gravity J 87.

of electrolyte |'

(A) does not change (B) increases

(C) decreases (D) None of these ’

Two capacitors of capacity 32 uF each are| ss.

connected in series, the total capacity will
be

{A) 64 uF (B) 16 uF

(O 32 uF (D) 8 uF [

Decimal number 10 is equal to binary | so.
!

number |
(A) 1000 (8) 1110 ||
(© 1010

(D) 1001 |

The efficiency of the solar cell is about
(A) 60% (8) 40%

€ 15% (D) 25%

Components which obey Ohm’s law is |91

known as
(A) Resistors

(B) Ohmic components |
(€) Non-Ohmic components
(D) None of these

‘85 ot P e B IHIS ©

(A) ey (8) Tihiex
© g (D) Hiex

AT BT FHIE T & ?

(A) 279 (B) drec-vfapy
© ¥ze (0) FerH

d @ AT & THT IdIdZe B
fafre o 2 & -

(A) ggerar <181 € | (B) qgar & |
(© gear & | ) 379 ¥ B T

aT WRT 32 uF & AR B F g
2 | oo gRar 8rf -

(A) 64 pF (8) 16 WF

(€ 32 uF (D) 8 uf

ﬁﬂmww,mﬁw%w%

(A) 1000 (8 110
© 1010 (D) 1001

(A) 60% (8) 409

(© 15% (D) 25%

USH S el & W ) ard ae g -
W ferre ®) frF ge

) RAMF Tew © 37 ¥ B 78



2 Apico faradis

(A) 1012 farads (B)

10~1€ farads

() 10¢ farads (®) 10-° farads

o The Light-Emitting Diode (LED)

(A) depends on the recombination of holes |

and electrons

(B) gives a light output which increases with
increase in temperature

(¢) made from silicon

(0) uses a reverse-biased junction

2 UH e e ®
(A yp-12 BRs (B qp-1€ S
(€ 10°¢© T}ﬂ@ (D) 10? T‘}T{T&'
9.

LED (e sffém smre) @ -

AFE R TaeeT & G W
v @ar ® |

BIgHTE a1 § ST GOEHE P §% W
ggar € |

(© fuforepra I <=1 T97 |
O)RgH-qTad SiFH FATT BT T

o Aninverter gate can be developed using % TH e A 91 Il § -
(A) a resistance and a capacitance () T gfRY 3R Te aurlRar
(8) a transistor (B) s giforex A
(©) two diodes (€ g sae o
(D) an inductance and a capacitance (0) U Waed AR TH FuTRGr A
% Electronics is the branch of engineering!%. golaeiaRT, IS I g8 Imar T
which deals with flow of electrons through AT & UATE B dardl & I BDY -
(A) gas (B) All of these (A) T (8) I g+t
(€) vacuum (D) semiconductor (© 371 (0) FFaTAH
% Ina PNP transistor, electrons flow % PNP giforeex # Folagi &1 WdTE -
(Alout of the transistor at the emitter and Az ¥ qER, STud IR a9 W
base leads AN
(B) out of the transistor at the collector and {BIT;:fﬁ?{E? A g, dTEd AR 49 W
base leads RIS
(©)into the transistor at the emitter and base | () gifer ¥, ISP IR a0 W s
leads )RR ¥, TIEs AR 449 W S
{(D)into the transistor at the collector and
base leads
7. An example of a solid-state device is a o7. qifere e fSarsy &1 Ierexo &
(A) thyratron (A) R
(B) Field-effect transformer (B) Fics FHhac TIUBIR
(9 Pentode (D) triode I = (0) Zrars
Page: 19
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Rrear o thaex BT ©
s The ripple factor in case of a full-wave|s. FoA-dd #1 e

(B) 1.21
rectifier (A) 0.48
(A) 0.48 (8) 1.21 (© 0.50 (0 1.0
(©) 0.50 (D) 1.0

% We need a resistor of value 47 ka with £ 5% (9. & 47 ko + 5% TR & HiRmE 3l
tolerance. The sequence of the colour band|  ggwgsar & | 30 R & fig HolX

on this resistor should be dvs FT HH e TRy _

(A) yellow, violet, brown and silver (W) Grer, R, =T SR ATaT (silver)

(B) yellow, violet, orange and silver (8) o, m, A 3R drer (silver)

(C) yellow, violet, yellow and gold © dierm, §3+, drom iR 9T (gold)

(D) yellow, violet, orange and gold (O ey, S, AN R AET (gold)
100. The term bit means 100. fde &7 Addd &

(A) 2 small amount of data (A &9 9= & IAFe

(8) 10r0 B 1370

Q) a binary digit (] Wﬁ"?f T

(D) both 1 or 0 and a binary digit (®) 1 7 0 3R T U&T SH]

W - -
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